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QUESTION 1
DRAG DROP

Drag drop the code to create a valid AXL API script to create a new Route Partition, using the Python Zeep library. Not
all options are used.

Select and Place:

Answer Area

from recuests import Session

from requests import auth

from zeep import Client

from zeep.transports import Transport

session = Session()
session.auth = auth.‘ | (‘Admimistrator’, ‘ciscopsdit’)

client = Client (wsdl = * ‘ ‘', transport = Transport (session=session))

service = client.create service(‘{http://www.cisco.com/AXTL.APTIService/}AXLAPTBinding’,

‘https: //ds-ucml251.cisco.com ‘ ‘)
data = {
‘name'’ : ‘Secure Lab’
}
resp = service.‘ ‘(data}
‘ :8443/ax1/ | ‘ AXLAPT .wsdl ‘ | AXLSoap.xsd ‘ | HTTPDigestAuth ‘
‘ HTTPBasicAuth | ‘ createPartition ‘ |addRoutePartiti0n‘ | faxlapi ‘

Correct Answer:
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Answer Area

from recuests import Session

from requests import auth

from zeep import Client

from zeep.transports import Transport

session = Session()
session.auth = auth.‘ HTTPBasicAuth | (‘Admimistrator’, ‘ciscopsdt’)

client = Client (wsdl = *

AXLAPT .wsdl ‘ ‘', transport = Transport (session=session))

service = client.create service(‘{http://www.cisco.com/AXTL.APTIService/}AXLAPIBinding’,

‘https://ds—ucleEl.cisco.ccm_‘ :8443/ax1/ v)
data = {

‘name’ : ‘Secure Lab’
}
resp = Service,‘addRoutePartition‘(data}

| AXL.Scap.xsd ‘ | HTTPDigestAuth
‘ createPartition ‘ | faxlapi ‘
QUESTION 2

Which Cisco Meeting Server REST API object resource is used to retrieve active call information?
A. /activecalls

B. /calls

C. /getactivecalls

D. /callProfiles

Correct Answer: B

QUESTION 3
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<?xml version="1.0" encoding = “UTF-8"7?>
<serv:message xmlns:serv="http://www.webex.com/schemas/2002/06/service”
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance”>
<header>
<securityContext>
<siteName>apidemoeu</siteName>
<webExID>alicefexample.com</webExXID>
<sessionTicket>AAABb6TOOBMAABUYAOGAKEgYUOSAAAAEIFPXDKRKO< /sessionTicket>
</securityContext>
</header>
<body>

</body>
</serv:message>

Refer to the exhibit. Alice is a Webex Meetings admin for her organization. Which code snippet completes a Webex
Meetings XML API request that returns all users?

A. <bodyContent =xsi:type=<java:'!com.webex.service.binding.user.CGatUsar/>
<webExID></wehExID>
</bodyContent>

B. <bodyContent xsi:type=<java:com.webex.service.binding.user.LstsummaryUser®>
</bodyContent>

C. <bodyContent xsi:type=<java:com.webex.service.binding.user.GetUser”>
</bodyContent>

0. <bodyContent xsi:type-<java:com.webex.service.binding.user.LstsummaryUser”>
LwebExID>*< fwebExID>
</bodyContent>

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 4
DRAG DROP

Drag and drop the XML snippets onto the AXL request to build a request that sets the cluster-wide Call Park Reversion
Timer to 2 minutes. Not all options are used.

Select and Place:
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Answer Area

<soapenv:Envelope xmlns:soapenv="http://schemas.xmlscap.orqg/scap/envelopa/"”
xmlns:ns="http: //vwww.cisco.con/AXL/APT/11.5">
<soapenv:Header/>
<soapenv:Body>

<serviceX>Cisco CallManager</service>
<value>120</value>

</soapenv:Body>
</soapenv:Envelope>

<name>CallParkDisplayTimer</name>

<name>CallParkReversionTimeout</name>

<ns:updateProcessNodeService>

<processNodeName>Defaul t</processNodsName>

</ns:updateServiceParameter>

<ns:updateServiceParameter>

</ns:updaterocessNodaService>

<processNodeName>EnterpriseWideData</processNodeName>

Correct Answer:
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Answer Area

<soapenv:Envelope xmlns:soapenv="http://schemas.xmlscap.orqg/scap/envelopa/"”
xmlns:ns="http://vwww.cisco.con/AXL/APT/11.5">
<soapenv:Header/>
<soapenv:Body>

<ns:updateServiceParaneter>

<processNodeName>EnterpriseWideData</processNodeName>

<name>CallParkReversionTimeout</name>

<serviceX>Cisco CallManager</service>
<value>120</value>

</ns:updateServiceParameter>

</soapenv:Body>
</soapenv:Envelope>

<name>CallParkDisplayTimer</name>

<ns:updateProcessNodeService>

<processNodeName>Defaul t</processNodsName>

</ns:updaterocessNodaService>

QUESTION 5

An existing user (identified by userld) needs to be allowed to host Webex meetings. Which API call is used to assign the
new license?

A. PUT /license/{userld}
B. POST /people/{userld}
C. PUT /peoplef{userld}

D. POST /license/{userld}
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Correct Answer: C
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